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A: O<N<B<Be

B Be<B<N<O

C: B<Be<N<O

D B<Be<O<N

Topic: Chemistry-Section A

Item No: 67

Question ID: 1569467




Question Type: | MCQ
&2 18065 TOCH edGeaen @ f2ai3 0w,
DB I 2 2GS & (2 D(scrap) DD & DA D
Question: D0 DES DDA,
' DB II: o 0BQ €3 0B DA DBS €5 aTr DL OTr 550,69
500 08EN0LN0R.
2 DeIBEAC) esTPBOTT, e9¢h£0es SHID A 2363720005 OTHT W,
A: 0edBER T DO DB IT O,
B: DO o382 T o000 I DB Soo)).
C: 0JodGED T OO 5°) edded IT IOV 5°CN.
D: aJodBED T DO 52D TR oG IT QBT
Topic: Chemistry-Section A
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Question ID: 1569468

Question Type: | MCQ

Question: eoeb Y HRES (>99.95%) 110 BIFLEBM® o TR DL &POL oS )?

A: 2088 230 @038 358 SO,
B: 3050 DOLTE OeDHNTBIAOD 300868 e NS DD SO,
c. QIS DOITE © NG IB 20 OGN0 IFIEBIG (T8 VLS
' DFAED S9O.
D: DS e300 22080 TGE HO.
Topic: Chemistry-Section A
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Question ID: 1569469

Question Type: | MCQ

Question: QO TOLLIED 1530030 ) E?

A Be>Mg=>Ca>5r
B sr>Ca>Mg>Be
C: Sr>Be>=Mg=Ca
D Be>Sr>Mg>Ca
Topic: Chemistry-Section A
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Question ID: 1569470




Question Type:

MCQ

B0 ADIS OP & D) 36D e5T1B © TS0 DOPE DOH?

Question:
NO. N,O, B,05, N505, CO, SO;3. P04,
A: 3
B: 4
C: 5
D: 6
Topic: Chemistry-Section A
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Question ID: 1569471
Question Type: | MCQ

808 & 0T 578 $8 DO (E0a0 E?

Question:
A: [Ni(en);]*". B : [Ni(NH;)6]*". C : [Ni(H,0)6]*
A: CxB=<A
B: B<(C<A
C: C<A<B
D: A<C<B
Topic: Chemistry-Section A
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Question ID: 1569472
Question Type: | MCQ

OR-ID OV-TI & 2365 DB0G.

ORI Of-1I
A DTS L 2 (Pesticide)
B. 2’06 I1. adEeN) S0fhed
Question:
C. AEE3D I DTS (DHeTededn
D. FG0H0 8180 V. 38 &
ABTS DAITPHTR) Qo) Fod:
A-II, B-III, C-1V, D-I
B: A-IV, B-IIL C-II. D-I

A-IIL B-II. C-1. D-IV




D: A-IIL B-II. C-IV. D-I
Topic: Chemistry-Section A
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Question ID: 1569473
Question Type: | MCQ
1B0A 58565 DTS 18aira3cisain O?
Question: 4\[.]/0\/% 2 HBr
(0]
Br
)\[‘I/O\/\/Br
A:
0
Br Br
B: /I\n/o\/\
O
Br B
C:
O
Br
D: Br \/\l_ﬁj\/\
O
Topic: Chemistry-Section A
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Question ID: 1569474
Question Type: | MCQ

1B80& 58565 DTS 1Barasiso D&?

Question: y_ O
H-O
O
(0]
A:
1-1)J><§/
8] OH

B:




C:

H

0O

D:

H /L%
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Question ID: 1569475
Question Type: | MCQ

L§Dﬁ§ e3Q) &30 20 S E0S @508 08.

oH~ OH OH
Question: ¢ @\ @ ¢
OCH,
(A) (B) (C) (D)
A: AZB=C=D
B: B=A>C>D
C: D>=C=>=A=>B
D: D>C>B=>A
Topic: Chemistry-Section A
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Question ID: 1569476
Question Type: | MCQ
it s
G T s
Question: 850 HCI
C TB0EY DOTN ATZEISW DE?
A: CH3;—CH>;—CHy—CH;
O
B: [l
CH; — CH» —C— CHjy
OH
C: |
CH3 —CHy — CH - CH;4
D: CH3 —CHp —CH =CH»

Topic:

Chemistry-Section A




Item No: 77
Question ID: 1569477
Question Type: | MCQ

V-1 OV S 2368 HE0A.

ORI OR-1I
T %0 2580
A TerQ 6.6 I 2)3eWw

B. éé%,é FOlE (10 O L S B Soe Sreden
)

Question: Qb
C. @85 Foded Koy O L (2D BwE) |1DVS ) (Bristles)
2AOOS
D. Tl IV. &S00
QBTN QST Q) Fod:
A A-TIL B-1. C-IV. D-II
B: A-IIL B-IV. C-1. D-II
C: A-IL. B-I. C-IV. D-III
D: A-IL B-IV. C-1. D-III
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Question ID: 1569478
Question Type: | MCQ

-2 BBy C1e08050 B+HES ToEy €2 © &5 TEDAES 20SSw

Question:
DO SoEN0H?
A: SrSeE
B: Sy
C: xS
D: S
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Question ID: 1569479
Question Type: | MCQ




Question: 5 SH0BEN, DOB0 Q) |8airde DE E0E SO D S
' 20570 DS ON. 82 B0 E D DaDOETE?

A: Q- 80P E

B: @@Eﬁgﬁ )

C: 30T DS

D: 5O SOH0 T WE

Topic: Chemistry-Section A
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Question ID: 1569480

Question Type: | MCQ

DTS @005 DACHOS’, @0BD TR0 TR JT°)eN SO

Question:
g2y 08.
A: § e STrond SN0
B: DT SdeaD S0
C: S S0
D: 230225700 & B0
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Question ID: 1569481

Question Type: | Numeric Answer

56.0 L DI 2RS 06900 e9HE e 0 ITE B o0&
Question: Ee0aT, 20 L © 933705 a0 o313, DADIFA0DCER
TIESBR TONS) SNBSS0 L.

Topic: Chemistry-Section B

Item No: 82

Question ID: 1569482

Question Type: | Numeric Answer

2,8 2 dm3 G50 He) SaPRI aPSHEY 11 g |FDE A0 O, P
2ATIOTP FOGEI0 SO A BN 2 MPa t7¢38 WODS06. &
Question: oL eh °C 036 OFHR0E. [0 T 0E50]

(AN R=8.3TK 1 mol)

C oB00 H © 083 27070 DM 12u o083 1u.

Topic: Chemistry-Section B




Iltem No:

83

Question ID:

1569483

Question Type:

Numeric Answer

H HE57e096TQ &8226¢% n = 5 DO TS Srnes DO, 00T

Question: &
&0 T (10 HOMWE

Topic: Chemistry-Section B

Item No: 84

Question ID: 1569484

Question Type:

Numeric Answer

2.8 Qeesd. &) M (DTN TAWEDY IR, (0O HOBDHIEN
@EIOTOW.

Question: HCI + NaOH — NaCI+ H,0 AH=—-57.3 kJ mol!
CH;COOH + NaOH — CH;3;COONa + H,0 AH=-55.3 kJ mol!
Dr:0 B80S CH;CO0H @DRESS dom®)  kimol ™,
Topic: Chemistry-Section B
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Question ID: 1569485

Question Type:

Numeric Answer

DS NTS DTFHLD. 2,8 (50 1ESF0E 965,
CH;N,CH;(g) — CH3CHj;(g) +Nj(g)

600 K 58, 5006 ol & ¢8ed 3¢50 )50 (80O HEI0 ©50DNE.

T e =—3.465 x 104
Question: In 2

[90]

t/s
B85 @TOiwed)  x 107, [0 rTrosaw]
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Question ID: 1569486

Question Type:

Numeric Answer




XeOj3, XeOF,, 0805 XeFg ©€5 30|38 DBSTen)o D) &) Indo

Question: p
2,080 208 DO F'D © QO

Topic: Chemistry-Section B

Item No: 87

Question ID: 1569487

Question Type:

Numeric Answer

Cr3T/CrET, Mo /M2, Fe¥T/Fe2™ snB8a5n Co® /Co? sotreres’ 20eTed 8
Question: 13T DO EE F520 16 230665 M3T e00iPS T0E), D)S-37 b
OO 20850 B.M. [0 SrTro85m]
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Question ID: 1569488

Question Type:

Numeric Answer

4.5 mg © BOCHA TS 3FIAT @755, R-0H &0 a3 S ) acho
OB 50 §OPM. 2.8 P00 aICRGO0N0R. TR EBOLM

Question:
TR a0 8A70 3.1 mL T &ed) . 8OLA &30.0° easardo
__g/mol. [Cf)lfj@ RO O INWY
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Question ID: 1569489

Question Type:

Numeric Answer

B0 B0MHEID B TANEE DO (TSP TP GOTZNA0TT.
1TSS 10, S0 A SHBAN B0 B &0 esr@Sad fich oD

Question: = %
APEE0D GG 0 SBOTT 3.25 cm. 2.08 cm OGS 1.05em . A
SDOA B © Re Denaded Dy
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Item No: 90

Question ID: | 1569490

Question Type:

Numeric Answer

Question:

C<Hy, @98 PC2er e 53 H0 D800 T’ (85730 19633 Deh
&5e€d ") O QOE : (fﬁg@ﬁ? 0FND €363 AIIFONOW))




